0 0.0
Q@
9.009
©
%.008
£
-@.007
9.006
X
©.005
2.004
3
£$).003
)
0.002
0.001

Ratio
F
&

.........................................................................

LI LA L

0.95

o

16 18 20
Pileup

2476 810 12 14

——D
D
—._D

M—fas

—=— DQNOTj
—— §M mkFit_step

M~—pixelCP 'I_mplate ste

Inal STEPZ

ste

TIt0 1000 _etal
Ptlto1000_etalp
M an%Ie steé)z ptltolOOO “etalp6to2p0

Pptlto1000_etalpbto2
p2 ptltol

to2p

(o] {04 0)V)

n 0.021
it}

.018F e e .
S : :
2,016 e o
S . .

B.014f T S
BD.012f e e b
X~ : :

Y5 — T— -
B.008f o e S (e

8] r : : :
).006f-++--- e e T B

n L : : :
0.004-----wenmeee prree freee it IR B R AL R & 5 8

0.002f+++-weee e S

Ratio

0.95

10

BOO_etalthoZpO
U.U X

E||||||||.||||.||||.||||i||||
1o 1 2 3



	Contents
	Page 1


